






































検査Ⅳ  工業［共通問題］解答例 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

１ 

 

各 3点 

① イ 

② カ 

２ 

 

各 2点 

(1) 0 

(2) 43 

(3) 424 

３ 

8点 
50 

４ 

8点 
2880 

５ 

8点 
27 

６ 

8点 
2 

７ 

8点 
25 

８ 

8点 
142.9 

1 



検査Ⅳ  工業［領域Ａ］解答例 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

問題 

番号 
１  

 

 

(1) 

 

各 2点 

① ア,エ 

② ア,イ 

(2) 

8点 
300 

(3) 

8点 
84 

(4) 

8点 
-200 

2 



検査Ⅳ  工業［領域Ａ］解答例 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

問題 

番号 
２  

 

 

(1) 

 

各 2点 

① エ 

② カ 

(2) 

8点 
2.1 

(3) 

8点 
10 

(4) 

8点 
1 

3 



検査Ⅳ  工業［領域Ａ］解答例 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

問題 

番号 
３  

 

 

(1) 

 

各 2点 

① イ 

② エ 

(2) 

8点 
-72.5 

(3) 

8点 
460 

(4) 

8点 
47 
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検査Ⅳ  工業［領域Ａ］解答例 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

問題 

番号 
４  

 

 

(1) 

 

各 2点 

① イ 

② カ 

(2) 

8点 
950 

(3) 

8点 
0.7 

(4) 

8点 
268 
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検査Ⅳ  工業［領域Ｂ］解答例 

 

 

 

問題 

番号 
１ 

(1)  

8点 
ウ 

(2)  

8点 
ア 

 

 

 

 

 

問題 

番号 
２ 

(1)  

8点 
ウ 

(2)  

8点 
エ 
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検査Ⅳ  工業［領域Ｂ］解答例 

 

 

 

問題 

番号 
３ 

(1)  

8点 
ウ 

(2)  

8点 
エ 

 

 

 

 

 

問題 

番号 
４ 

(1)  

8点 
イ 

(2)  

8点 
ウ 
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検査Ⅳ  工業［領域Ｂ］解答例 

 

 

 

問題 

番号 
５ 

(1)  

8点 
エ 

(2)  

8点 
ウ 

 

 

 

 

 

問題 

番号 
６ 

(1)  

8点 
エ 

(2)  

8点 
ウ 
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検査Ⅳ  工業［領域Ｂ］解答例 

 

 

 

問題 

番号 
７ 

(1)  

8点 
エ 

(2)  

8点 
ウ 

 

 

 

 

 

問題 

番号 
８ 

(1)  

8点 
ア 

(2)  

8点 
ウ 
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検査Ⅳ  工業［領域Ｂ］解答例 

 

 

 

問題 

番号 
９ 

(1)  

8点 
イ 

(2)  

8点 
ア 
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